# Application of Almost Increasing Sequence for Absolute Riesz $\left|\bar{N}, p_{n}^{\alpha, \beta} ; \delta\right|_{k}$ Summable Factor* 

Smita Sonker ${ }^{1}$, Rozy Jindal ${ }^{1}$ and Lakshmi Narayan Mishra ${ }^{2, \dagger}$


#### Abstract

In this paper, we generate an extended result by Bor and Seyhan concerning absolute Riesz summability factors. Further, we develop some wellknown results from our main result.


Keywords Absolute summability, Quasi- $f$-power increasing sequence, Infinite series, Riesz summability.
MSC(2010) 40F05, 40D15, 42A24, 40G05.

## 1. Introduction

Let $\sum a_{n}$ be an infinite series, $\left\{s_{n}\right\}=\sum_{k=0}^{n} a_{k}$ be the sequence of its partial sums and $n^{t h}$ mean of the sequence $\left\{s_{n}\right\}$ is given by $u_{n}$, s.t.,

$$
\begin{equation*}
u_{n}=\sum_{k=0}^{\infty} u_{n k} s_{k} \tag{1.1}
\end{equation*}
$$

Definition 1: An infinite series $\sum a_{n}$ is absolute summable, if

$$
\lim _{n \rightarrow \infty} u_{n}=s
$$

and

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left|u_{n}-u_{n-1}\right|<\infty \tag{1.3}
\end{equation*}
$$

Definition 2: Let $\left\{p_{n}\right\}$ be a sequence with $p_{0}>0$ and $p_{n} \geqslant 0$ for $n>0$

$$
\begin{equation*}
P_{n}=\sum_{v=0}^{n} p_{v} \rightarrow \infty \tag{1.4}
\end{equation*}
$$

[^0]For $\alpha>-1,0<\beta \leqslant 1, \alpha+\beta>0$, define:

$$
\begin{gather*}
\epsilon_{0}^{\alpha+\beta}=1, \epsilon_{n}^{\alpha+\beta}=\frac{(\alpha+\beta+1)(\alpha+\beta+2) \ldots(\alpha+\beta+n)}{n!},(n=1,2,3, \ldots)  \tag{1.5}\\
p_{n}^{\alpha, \beta}=\sum_{v=0}^{n} \epsilon_{n-v}^{\alpha+\beta-1} p_{v}  \tag{1.6}\\
P_{n}^{\alpha, \beta}=\sum_{v=0}^{n} p_{n}^{\alpha, \beta} \rightarrow \infty, n \rightarrow \infty \tag{1.7}
\end{gather*}
$$

and

$$
P_{-n}^{\alpha, \beta}=p_{-n}^{\alpha, \beta}=0, n \geqslant 1
$$

Then, the sequence-to-sequence transformation $t_{n}$ defines the $\left(\bar{N}, p_{n}^{\alpha, \beta}\right)$ mean of series $\sum a_{n}$ and is given by:

$$
\begin{equation*}
t_{n}=\frac{1}{P_{n}^{\alpha, \beta}} \sum_{k=0}^{n} p_{k}^{\alpha, \beta} s_{k}, P_{n}^{\alpha, \beta} \neq 0, n \in N \tag{1.8}
\end{equation*}
$$

and $\lim _{n \rightarrow \infty} t_{n}=s$, and the series is called $\left(\bar{N}, p_{n}^{\alpha, \beta}\right)$, formed by sequence of coefficients $\left\{p_{n}^{\alpha, \beta}\right\}$.
Further, if sequences $\left\{t_{n}\right\}$ is of bounded variation with index $k \geqslant 1$ i.e.

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{k-1}\left|\Delta t_{n-1}\right|^{k}<\infty \tag{1.9}
\end{equation*}
$$

then the series $\sum a_{n}$ is said to be absolutely $\left(R, p_{n}^{\alpha, \beta}\right)_{k}$ summable with index $k$ or $\left|\bar{N}, p_{n}^{\alpha, \beta}\right|_{k}$ summable to s.
Definition 3: The series is said to be $\left|\bar{N}, p_{n}^{\alpha, \beta} ; \delta\right|_{k}$ summable, if

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|\Delta t_{n-1}\right|^{k}<\infty \tag{1.10}
\end{equation*}
$$

with $k \geqslant 1, \delta \geqslant 0$ and

$$
\begin{equation*}
\Delta t_{n}=-\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n} P_{v-1}^{\alpha, \beta} a_{v}, \quad n \geqslant 1 \tag{1.11}
\end{equation*}
$$

Bor [1-3] generalised the result associated with Riesz summability factors. Bor and Özarslan $[4,5]$ established theorems using $\left|\bar{N}, p_{n} ; \delta\right|$ summability factors. Özarslan $[11,12]$ used the definition of almost increasing sequence for absolute summability. Mishra et. al. [9, 10] gave useful result on approximation. Also, Mishra et. al. [7, 8] provided new results related to matrix summability and improper integrals. In [13], Sonker and Munjal established new theorem on absolute summability for Triangle matrices. Yildiz [14, 15] determined theorems on generalized absolute matrix summability factors.

## 2. Known result

By using $\left|\bar{N}, p_{n}^{\alpha} ; \delta\right|_{k}$ summability, Bor and Seyan [6] proved the following theorem.
Theorem 2.1. [6] Let $p_{n}$ be a sequence of + ve numbers s.t.:

$$
\begin{equation*}
P_{n}=O\left(n p_{n}\right) \text { as } n \rightarrow \infty . \tag{2.1}
\end{equation*}
$$

By using $\left|\bar{N}, p_{n}^{\alpha} ; \delta\right|_{k}$ summability, Bor and Seyan [6] proved the following theorem.
Let $\left(X_{n}\right)$ be an almost increasing sequence and assuming $\left(\xi_{n}\right)$ and $\left(\lambda_{n}\right)$ are s.t.:

$$
\begin{gather*}
\left|\Delta \lambda_{n}\right| \leqslant \xi_{n}  \tag{2.2}\\
\xi_{n} \rightarrow 0 \text { as } n \rightarrow \infty  \tag{2.3}\\
\sum_{n=1}^{\infty} n\left|\Delta \xi_{n}\right| X_{n} \leqslant \infty  \tag{2.4}\\
\left|\lambda_{n}\right| X_{n}=O(1) \text { as } n \rightarrow \infty  \tag{2.5}\\
\sum_{n=v+1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k-1} \frac{1}{P_{n-1}}=O\left(\left(\frac{P_{v}}{p_{v}}\right)^{\delta k} \frac{1}{P_{v}}\right),  \tag{2.6}\\
\sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{\delta k-1}\left|t_{n}\right|^{k}=O\left(X_{n}\right) \text { as } m \rightarrow \infty \tag{2.7}
\end{gather*}
$$

Then, $\sum a_{n} \lambda_{n}$ is $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summable where, $k \geqslant 1$ and $0 \leqslant \delta \leqslant \frac{1}{k}$.

## 3. Main result

A sequence is of bounded variation i.e. $\left(\lambda_{n}\right) \in B V$, if :

$$
\sum_{n=1}^{\infty}\left|\Delta \lambda_{n}\right|=\left|\lambda_{n}-\lambda_{n-1}\right|<\infty
$$

Theorem 3.1. Let $\left(X_{n}\right)$, $\left(\xi_{n}\right)$ and $\left(\lambda_{n}\right)$ be as defined in theorem 2.1 and verify 2.2-2.5. If the following conditions also satisfy:

$$
\begin{gather*}
\sum_{n=v+1}^{\infty} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1}=O\left\{\frac{1}{P_{v}^{\alpha, \beta}}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k}\right\}  \tag{3.1}\\
\sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{n}\right|^{k}=O\left(X_{m}\right)  \tag{3.2}\\
\sum_{n=1}^{m} \frac{\left|\lambda_{n}\right|}{n}=O(1) \tag{3.3}
\end{gather*}
$$

and

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{1}{n}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k}\left|t_{n}\right|^{k}=O\left(X_{m}\right) \text { as } m \rightarrow \infty . \tag{3.4}
\end{equation*}
$$

then, $\sum a_{n} \lambda_{n}$ is $\left|\bar{N}, p_{n}^{\alpha, \beta} ; \delta\right|_{k}$ summable where $k \geqslant 1$ and $0 \leqslant \delta \leqslant \frac{1}{k}$.

Proof. Let $Y_{n}$ denote the $\left(\bar{N}, p_{n}^{\alpha, \beta}\right)$ mean of $\sum a_{n} \lambda_{n}$. We have:

$$
\begin{equation*}
Y_{n}=\frac{1}{P_{n}^{\alpha, \beta}} \sum_{v=0}^{n} p_{v}^{\alpha, \beta} \sum_{i=0}^{v} a_{i} \lambda_{i} \tag{3.5}
\end{equation*}
$$

For $n \geqslant 1$,

$$
\begin{gather*}
\Delta Y_{n}=Y_{n}-Y_{n-1}=\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n} P_{v-1}^{\alpha, \beta} a_{v} \lambda_{v}=\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n} \frac{P_{v-1} \lambda_{v}}{v} v a_{v} \\
\Delta Y_{n}= \\
\frac{n+1}{n P_{n}^{\alpha, \beta}} p_{n}^{\alpha, \beta} t_{n} \lambda_{n} \\
-\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} p_{v}^{\alpha, \beta} t_{v} \lambda_{v} \frac{v+1}{v} \\
+\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta} t_{v} \Delta \lambda_{v} \frac{v+1}{v} \\
+\frac{p_{n}^{\alpha, \beta}}{P_{n}^{\alpha, \beta} P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta} t_{v} \lambda_{v+1} \frac{1}{v}  \tag{3.6}\\
=Y_{1}+Y_{2}+Y_{3}+Y_{4} .
\end{gather*}
$$

To prove the Theorem 3.1, it is enough to prove

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|\Delta Y_{n}\right|^{k}<\infty \tag{3.7}
\end{equation*}
$$

Using Minkowski's inequality,

$$
\left|Y_{1}+Y_{2}+Y_{3}+Y_{4}\right|^{k} \leqslant 4^{k}\left(\left|Y_{1}\right|^{k}+\left|Y_{2}\right|^{k}+\left|Y_{3}\right|^{k}+\left|Y_{4}\right|^{k}\right)
$$

Then, equation 3.7 reduces to:

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|Y_{r}\right|^{k}<\infty \text { for } r=1,2,3,4 \tag{3.8}
\end{equation*}
$$

Now, the L. H. S. of equation 3.8 is given as:

$$
\begin{align*}
\sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|Y_{1}\right|^{k}= & \sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|\frac{n+1}{n P_{n}^{\alpha, \beta}} p_{n}^{\alpha, \beta} t_{n} \lambda_{n}\right|^{k} \\
& =\sum_{n=1}^{m}\left(\frac{P^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{n}\right|^{k}\left|\lambda_{n}\right| \\
& =O(1)\left|\lambda_{m}\right| \sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{n}\right|^{k} \\
& +O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{v=1}^{n}\left(\frac{P_{n}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{v}\right|^{k} \\
& =O(1)\left|\lambda_{m}\right| X_{m}+O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n} \\
& =O(1) a s m \rightarrow \infty,  \tag{3.9}\\
\sum_{n=2}^{m+1}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|Y_{2}\right|^{k} & =O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \times
\end{align*}
$$

$$
\begin{align*}
& \times \sum_{v=1}^{n-1} p_{v}^{\alpha, \beta}\left|t_{v}\right|^{k}\left|\lambda_{v}\right|\left(\frac{1}{P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} p_{v}^{\alpha, \beta}\right)^{k-1} \\
& =O(1) \sum_{v=1}^{m} p_{v}^{\alpha, \beta}\left|t_{v}\right|^{k}\left|\lambda_{v}\right| \times \\
& \times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \\
& =O(1) \sum_{v=1}^{m} p_{v}^{\alpha, \beta}\left|t_{v}\right|^{k}\left|\lambda_{v}\right| \frac{1}{P_{v}^{\alpha, \beta}}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k} \\
& =O(1)\left|\lambda_{m}\right| \sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{n}\right|^{k} \\
& +O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{v=1}^{n}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k-1}\left|t_{v}\right|^{k} \\
& =O(1)\left|\lambda_{m}\right| X_{m}+O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n} \\
& =O(1) \text { as } m \rightarrow \infty,  \tag{3.10}\\
& \sum_{n=2}^{m+1}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|Y_{3}\right|^{k}=O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \times \\
& \times \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta}\left|t_{v}\right|^{k} \xi_{v}\left(\frac{1}{P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta} \xi_{v}\right)^{k-1} \\
& =O(1) \sum_{v=1}^{m} P_{v}^{\alpha, \beta} \xi_{v}\left|t_{v}\right|^{k} \times \\
& \times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \\
& =O(1) \sum_{v=1}^{m} P_{v}^{\alpha, \beta}\left|t_{v}\right|^{k} \xi_{v} \frac{1}{P_{v}^{\alpha, \beta}}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k} \\
& =m \xi_{m} \sum_{v=1}^{m} \frac{1}{v}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k}\left|t_{v}\right|^{k} \\
& +O(1) \sum_{v=1}^{m-1} \Delta\left(v \xi_{v}\right) \sum_{i=1}^{v} \frac{1}{i}\left(\frac{P_{i}^{\alpha, \beta}}{p_{i}^{\alpha, \beta}}\right)^{\delta k}\left|t_{i}\right|^{k} \\
& =O(1) m \xi_{m} X_{m}+O(1) \sum_{v=1}^{m-1}\left|\Delta\left(v \xi_{v}\right)\right| X_{v} \\
& =O(1) m \xi_{m} X_{m}+O(1) \sum_{v=1}^{m-1}\left|\Delta \xi_{v}\right| X_{v} \\
& +O(1) \sum_{v=1}^{m-1} \xi_{v+1} X_{v+1} \\
& =O(1) \text { as } m \rightarrow \infty,  \tag{3.11}\\
& \sum_{n=1}^{m}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|Y_{4}\right|^{k}=O(1) \sum_{n=2}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \times \\
& \times \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta} \frac{\left|\lambda_{v+1}\right|}{v}\left|t_{v}\right|^{k}\left(\frac{1}{P_{n-1}^{\alpha, \beta}} \sum_{v=1}^{n-1} P_{v}^{\alpha, \beta} \frac{\left|\lambda_{v+1}\right|}{v}\right)^{k-1}
\end{align*}
$$

$$
\begin{align*}
& =O(1) \sum_{v=1}^{m} P_{v}^{\alpha, \beta} \frac{\left|\lambda_{v+1}\right|}{v}\left|t_{v}\right|^{k} \times \\
& \times \sum_{n=v+1}^{m+1} \frac{1}{P_{n-1}^{\alpha, \beta}}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k-1} \\
& =O(1) \sum_{v=1}^{m} P_{v}^{\alpha, \beta} \frac{\left|\lambda_{v+1}\right|}{v}\left|t_{v}\right|^{k} \frac{1}{P_{v}^{\alpha, \beta}} \times \\
& \times\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k} \\
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v+1}\right| \frac{1}{v}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k}\left|t_{v}\right|^{k} \\
& =O(1)\left|\lambda_{m+1}\right| \sum_{v=1}^{m} \frac{1}{v}\left(\frac{P_{v}^{\alpha, \beta}}{p_{v}^{\alpha, \beta}}\right)^{\delta k}\left|t_{v}\right|^{k} \\
& +O(1) \sum_{v=1}^{m-1} \Delta\left|\lambda_{v+1}\right| \times \\
& \times \sum_{i=1}^{v} \frac{1}{i}\left(\frac{P_{i}^{\alpha, \beta}}{p_{i}^{\alpha, \beta}}\right)^{\delta k}\left|t_{i}\right|^{k} \\
& =O(1)\left|\lambda_{m+1}\right| X_{m}+O(1) \sum_{v=1}^{m-1} \Delta\left|\lambda_{v+1}\right| X_{v} \\
& =O(1) a s \quad m \rightarrow \infty . \tag{3.12}
\end{align*}
$$

Collecting 3.5-3.12, we have

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{P_{n}^{\alpha, \beta}}{p_{n}^{\alpha, \beta}}\right)^{\delta k+k-1}\left|T_{n, r}\right|^{k}<\infty \text { for } r=1,2,3,4 \tag{3.13}
\end{equation*}
$$

Hence, the theorem is proved.

Corollary 3.1. Let $\left(X_{n}\right),\left(\xi_{n}\right)$ and $\left(\lambda_{n}\right)$ are s.t. conditions 2.2-2.5 of theorem 2.1, condition 3.3 of theorem 3.1,

$$
\begin{gather*}
\sum_{n=v+1}^{\infty} \frac{p_{n}^{\alpha}}{P_{n}^{\alpha} P_{n-1}^{\alpha}}=O\left(\frac{1}{P_{v}^{\alpha}}\right)  \tag{3.14}\\
\sum_{n=1}^{m} \frac{p_{n}^{\alpha}}{P_{n}^{\alpha}}\left|t_{n}\right|^{k}=O\left(X_{m}\right) \text { as } m \rightarrow \infty \tag{3.15}
\end{gather*}
$$

and

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{1}{n}\left|t_{n}\right|^{k}=O\left(X_{m}\right) \text { as } m \rightarrow \infty \tag{3.16}
\end{equation*}
$$

holds. Then, $\sum a_{n} \lambda_{n}$ is $\left|\bar{N}, p_{n}^{\alpha}\right|_{k}$ summable for $k \geqslant 1$.
Proof: By using $\beta=1$ and $\delta=0$ in main theorem, we will get 3.14, 3.15 and 3.16. The proof is same as the main theorem 3.1, but here we used equations 3.14, 3.15 and 3.16 instead of equations 3.1, 3.2 and 3.3.

Corollary 3.2. Let $\left(X_{n}\right),\left(\xi_{n}\right)$ and $\left(\lambda_{n}\right)$ are s.t. conditions 2.2-2.5 of theorem 2.1, condition 3.3 of theorem 3.1 and 3.14-3.16 holds. Then, $\sum a_{n} \lambda_{n}$ is $\left|\bar{N}, p_{n}^{\alpha}\right|$ summable.

Proof: By using $\beta=1, k=1$ and $\delta=0$ in main theorem and equations 3.143.16, we get this result.

## 4. Conclusion

The negligible set of conditions has been obtained for the infinite series in this paper. By the examination, we may infer that our hypothesis is a summed up variant which can be diminished for a few notable summabilities as appeared in corollaries.

## References

[1] H. Bor, A new theorem on the absolute Riesz summability factors, Filomat, 2014, 28(8), 1537-1541.
[2] H. Bor, Some new results on infinite series and Fourier series, Positivity, 2015, 19(3), 467-473.
[3] H. Bor, Some new results on absolute Riesz summability of infinite series and Fourier series, Positivity, 2016, 20, 599-605.
[4] H. Bor and H. S. Özarslan, On absolute Riesz summability factors, Journal of Mathematical Analysis and Applications , 2000, 246(2), 657-663.
[5] H. Bor and H. S. Özarslan, A note on absolute weighted mean summability factors, Central European Journal of Mathematics, 2006, 4(4), 594-599.
[6] H. Bor and H. Seyhan, On almost increasing sequences and its applications, Indian Journal Pure Applied Mathematics, 1999, 30, 1041-1046.
[7] L. N. Mishra, D. Acharya, S. Sahu, P. C. Nayak and U. K. Misra, Indexed absolute summability factor of improper integrals, Applications and Applied Mathematics, 2020, 15(1), 666-672.
[8] L. N. Mishra, P. K. Das, P. Samanta, M. Misra and U. K. Misra, On indexed absolute matrix summability of an infinite series, Applications and Applied Mathematics, 2018, 13(1), 274-285.
[9] V. N. Mishra, Some Problems on Approximations of Functions in Banach Spaces, Ph.D. Thesis (2007), Indian Institute of Technology, Roorkee 247 667, Uttarakhand, India.
[10] V. N. Mishra and L. N. Mishra, Trignometric Approximation of Signals (Functions) in $L_{p}$-norm, International Journal of Contemporary Mathematical Sciences, 2012, 7(19), 909-918.
[11] H. S. Özarslan, A note on $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability factors, Indian Journal Pure Applied Mathematics, 2002, 33(3), 361-366.
[12] H. S. Özarslan, On $\left|\bar{N}, p_{n} ; \delta\right|_{k}$ summability factors, Kyungpook Mathematical Journal, 2003, 45(1), 107-112.
[13] S. Sonker, A. Munjal and L. N. Mishra, Absolute $|A, \delta|_{k}$ and $|A, \gamma ; \delta|_{k}$ Summability for n-tupled Triangle Matrices, Journal of Nepal Mathematical Society, 2020, 3(2), 27-34. DOI: 10.3126/jnms.v3i2.33957
[14] S. Yildiz, A new theorem on absolute matrix summability of Fourier series, Publications de l'Institut Mathématique (N. S.), 2017, 102(116), 107-113. DOI: /10.2298/PIM1716107Y
[15] S. Yildiz, On Application of matrix summability to Fourier series, Mathematical Models and Methods in Applied Sciences, 2017. DOI: $10.1002 / \mathrm{mma} .4635$


[^0]:    $\dagger$ the corresponding author.
    Email address: lakshminarayanmishra04@gmail.com (L. N. Mishra), smita.sonker@gmail.com (S. Sonker), rozyjindal1992@gmail.com (R. Jindal)
    ${ }^{1}$ Department of Mathematics, National Institute of Technology (NIT), Kurukshetra, 136119 India
    ${ }^{2}$ Department of Mathematics, School of Advanced Sciences, Vellore Institute of Technology (VIT) University, Tamil Nadu 632014, India.
    *The authors were supported by Science and Engineering Research Board (SERB) (Project No. EEQ/2018/000393).

